
https://www.elenka.spb.ru/news.php?item.221

�!�B�@�0�=�8�F�0 1/1

		�>�B�G�5�B �> �0�:�C�A�B�8�G�5�A�:�>�< �:�>�=�F�5�@�B�5 ��.���@�1�5�=�8�=�>�9 �2 ��2 1-�3�>

�O�=�2�0�@�O 2011

		

		Safon, Saturday 15 January 2011 - 22:44:54

		

		�2 �D�>�@�C�<�5  - �7�0�<�5�G�0�B�5�;�L�=�K�9  �>�B�G�5�B
�> �0�:�C�A�B�8�G�5�A�:�>�< �:�>�=�F�5�@�B�5
��.���@�1�5�=�8�=�>�9  �2 ��2 1-�3�> �O�=�2�0�@�O 2011 �>�B agkadriya. �A�?�0�A�8�1�>

�>�3�@�>�<�=�>�5!

https://www.elenka.spb.ru/news.php?item.221
/ins/forum/forum_viewtopic.php?2374
/ins/forum/forum_viewtopic.php?2374
/ins/forum/forum_viewtopic.php?2374

